Karlsh

amns BK

Partavling hcp 2022-07-27

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poéng % Namn MID Klubb
1 14 209.0 62.20 Ingrid Hagberg-Hake - Hakan Lorantz 87252 91035 Karlshamns BK
2 8 201.7 60.03 GunillaKarlén - Monica Naslund 57515 88583 Karlshamns BK
3 16 198.4 59.05 Laila Palm - Lotta Hoglund 57508 66457 Karlshamns BK
4 1 1859 55.33 UllaJeppsson - Thomas Svahn 88584 66746 Karlshamns BK
5 2 182.9 54.44 Christina Johansson - Monica Appelros 61384 27368 Karlshamns BK
6 3 1744 5190 Karl-Erik Johansson - Mats Johansson 768 1138 RydsBK
7 6 170.8 50.82 Ruth Carlson - Inger Bertilsson 86969 45818 Karlshamns BK
8 12 166.9 49.66 Ingvar Svensson - Leif Pettersson 88202 57511 Karlshamns BK
9 4 162.8 48.44 Gun-Britt Karlsson - Claus Olesen 39983 43822 Karlshamns BK
10 7 159.8 47.57 Maja-Lena Olsson - Christer Carlsson 45814 65438 Karlshamns BK
11 11 159.6 47.51 Larry Rosenius - Lisbeth Nilsson 16382 26192 Karlshamns BK
12 13 147.8 44.00 Dan Johansson - Roger Rundkvist 11809 878  Karlshamns BK - Ryds BK
13 10 146.5 43.61 PerHansson - Pia Olofsson 45045 599  Karlshamns BK - Vaxjébridgen
14 15 1419 42.25 Bengt-Olof Westmar - Lars Jeppsson 80254 91001 Karlshamns BK
15 9 1412 42.02 Olle Alm - Stefan Olsson 55722 57509 Bodekull Seniorbridge, Karlshamn - Karlshamns BK
16 5 138.3 41.17 Eivor Svensson - Per Svensson 37123 37124 Karlshamns BK
1 4 Kn106 Bésta kontrakt 2 & K2 Bésta kontrakt 3 & K52 Bésta kontrakt
Nord vE108 5v O =-450 Ost v 10872 54 O =-450 Syd vE106 3NT S =400
Ingen + KKn6 NS + 1054 ov + K73
#E982 & ¢ v & NT #EKn65 & ¢ v & NT #Kn963 & ¢ v & NT
4 EK 4 D42 N6 226 2 49763 4 ED1054 N56 4214 4Kn76 4D1094 N9 7 7 89
vK7632 vDKn54 S6 226 2 vK6543 vE S 46423 v 98542 vD7 S97779
+875 ¢+ ED103 07 9 117 9 ¢+ D2 ¢ E98 08 7 8 119 +D106 ¢ EKn54 O46654
»654 &K3 V79 117 9 »87 #K432 vV 8 7 8 119 «108 &754 V 466054
498753 4 Kn8 4 E83
v9 v DKn9 v KKn3
¢ 942 + KKn763 4982
#DKn107 «D109 #EKD2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 4 4v V-1 aJ 50 140 00| 3 5 24 O+2 vQ -170 13.0 10| 4 6 3NS+1 v5 430 120 2.0
14 7 44 N-3 v4 -150 120 20| 9 4 14 O+3 vQ -170 13.0 10|13 2 3NS+1 v2 430 120 2.0
3 5 2vV+2 a) -170 90 50| 8 11 24 O+3 *9 -200 9.0 50|14 8 3NS+1 v8 430 12.0 2.0
16 12 2v V+2 +6 -170 9.0 50[(10 2 24 O+3 vQ -200 90 50| 1 16 3NS= v2 400 6.0 8.0
13 1 3vy V+2 L) -200 6.0 80(14 7 440= vQ -420 40 10.0| 9 12 3NN= ¢5 400 6.0 8.0
10 2 4v 0= *Q -420 3.0 11015 6 44 0= +3 -420 40 10.0|11 3 3NN= 4T 400 6.0 8.0
15 6 4v V= L) -420 3.0 11.0(16 12 44 O= +3 -420 40 100|10 5 3NN-1 a4 -50 2.0 120
8 11 4v O+1 *Q -450 0.0 140(13 1 44 O+1 vQ -450 0.0 140| 7 15 3NS-2 L) -100 0.0 14.0
4 «D3 Bésta kontrakt 5 & Kn98732 Bésta kontrakt 6 4 D1096 Bésta kontrakt
Vast v 10653 5NT V =-660 Nord v Kn5 64 N D -1-200 Ost v K10 34 N =140
Alla + K1092 NS *- ov + K107
+D62 & ¢ v & NT #DKn986 & ¢ v & NT #KDKn2 & ¢ v & NT
4Knl07 #E84 N33242 +« EKD + 1064 N 112 6 8 6 a K4 4 Kn85 N8 8597
vD972 vEK84 S 33242 v 1072 v KD96 S 112 6 7 6 vKn7 v ED8543 S87587
¢ E63 ¢+ D54 O 109 119 11 ¢ Kn1097 ¢ ED8532 02 117 5 7 +D9654 +E 0457 45
*K85 *EKn4 V 109 119 11 #1042 »- vV 2117 5 7 #9763 #1054 V45745
& K9652 a5 4 E732
vKn v E843 v 962
+ Kn87 + K64 + Kn832
#10973 #EK753 #E8
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 6 4v 0O-2 42 200 140 00|11 6 5¢ O-1 *A 50 140 00| 8 15 4v O-2 «A 200 14.0 0.0
116 3v0O-1 &7 100 120 2.0(12 4 2¢ O+2 45 -130 120 20|10 1 24 S+1 v] 140 11.0 3.0
9 12 2v V+2 4Q -170 100 4.0| 8 15 3¢ O+2 a5 -150 80 6.0[/16 2 34 N= ¢A 140 11.0 3.0
7 15 4v V= 43 -620 70 7.0[10 1 4¢ O+1 45 -150 80 6.0 9 14 24 S= vlJ 110 70 7.0
14 8 49 0O= *9 -620 70 7.0[(16 2 4¢ O+1 45 -150 80 6.0({11 6 24 S-= v] 110 70 7.0
10 5 3NV +1 +9 -630 3.0 110 5 7 5¢DO= #A -550 3.0 110(12 4 2v0O-1 «A 100 4.0 10.0
13 2 3NV +1 4Q -630 3.0 11.0[{13 3 5¢DO= &5 -550 3.0 11.0| 5 7 34S-1 v7 -50 1.0 130
11 3 4v O +1 vJ] -650 0.0 140| 9 14 4¢DO+1 45 -610 0.0 140|13 3 34S-1 v] -50 1.0 13.0
7 4 E1063 Basta kontrakt 8 4 K73 Basta kontrakt 9 4 EKD104 Basta kontrakt
Syd vE5 3NT V =-600 Vast v 1096 44 V D -2 300 Nord vD10 44 N =420
Alla + Kn853 Ingen 4954 ov + D96
#D32 & ¢ v & NT #EKn104 & ¢ v & NT #1086 & ¢ v & NT
4Kn98 4K742 N6 5344 4 EKn10986 D2 N5 9 105 7 4 Kn6é 48752 N9 7 10109
vK9732 vDKn6 S 65344 v54 v EK7 S 59 105 7 vKn743 92 S 9 7 10107
¢+ D7 ¢ E642 077989 41082 ¢ Kn6 083386 ¢ Kn8 ¢EK10532 O3 6112
*E95 2KKn V6792829 #95 #KD8632 V83386 #K7542 #Kn V3633414
« D5 454 93
v 1084 v DKn832 v EK865
+ K109 + EKD73 ¢ 74
#108764 *7 #ED93
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 5 440-1 ¢K 100 13.0 10|12 7 4y S= aA 420 140 00| 2 6 3NN+1 ¢A 430 13.0 1.0
15 9 3v0O-1 v8 100 13.0 1.0| 3 16 1lv S+3 6 170 100 40|13 5 3NN+1 ¢A 430 13.0 1.0
13 4 3vy 0= +5 -140 100 4.0|13 4 3v N+1 &K 170 100 4.0|12 3 44 N= ¢A 420 100 4.0
6 8 INO+2 *6 -150 80 6.0[{15 9 3v S+l 9 170 10.0 4.0[{14 11 3NN= ¢A 400 8.0 6.0
10 14 2y V+2 *2 -170 6.0 80| 6 8 44V-3 ¢4 150 6.0 80(16 4 44 N-1 ¢ A -50 6.0 8.0
3 16 14 N-2 a2 -200 40 10011 2 44 V-2 vT 100 40 10.0|15 10 4v S-2 +J -100 40 10.0
12 7 4v V= +5 -620 20 120| 1 5 3aV-1 vT 50 10 130| 1 8 44 N-3 ¢ A -150 1.0 130
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11 2 3NO+1 &4 -630 0.0 14.0|10 14 34 V-1 v6 50 10 130 7 9 3NN-3 ¢ A -150 1.0 130
10 & KKn83 Basta kontrakt 11 «D10876 Basta kontrakt 12 « KD6 Basta kontrakt
Ost v9 5v O D -2 500 Syd v9 6# S =920 Vast v D92 5v VD -1100
Alla + DKn4 Ingen +D8 NS + DKn9853
#KKn754 & ¢ v & NT +KD1064 & ¢ v o NT *2 & ¢ v & NT
46 492 N9 5 4 109 4 E43 & KKn52 N 126 5 7 8 a7 & Kn852 N 3 113 9 3
v 108732 v KKn654 S 95 4 109 v 1072 v KKn654 S 125 5 7 8 vK6543  vEKn107 S 4 113 103
¢ 875 ¢ EK103 037933 41097643 ¢ KKn 017765 *72 ¢ K10 08 1 102 2
#10632 #E8 V37933 *2 #Kn5 V167675 #EKn976 #D84 vV 81102 2
« ED10754 49 « E10943
vED v ED83 v8
4962 ¢ E52 + E64
«D9 *E9873 #K1053
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
12 3 4e4DS-= v8 790 140 00| 1 4 3NS= ¢T 400 140 0.0|11 15 4eDS= «A 790 14.0 0.0
1 8 44 S= vT 620 6.0 80| 3 7 3#N+3 +J 170 120 20| 2 9 44 N+1 v4 650 120 20
2 6 44 S= v2 620 6.0 8.0| 8 10 44 S+1 v2 150 90 50| 3 7 4a4S-= «A 620 8.0 6.0
7 9 44 S= vT 620 6.0 80|11 15 44S+1 v2 150 90 50|13 6 44 N= #A 620 8.0 6.0
13 5 44 S= v2 620 6.0 8.0([14 12 2NS= v2 120 6.0 8.0|14 12 44 N= «A 620 8.0 6.0
14 11 44 S= v2 620 6.0 80| 516 2v0-1 49 50 40 100| 5 16 2¢ S+4 v3 170 4.0 10.0
15 10 44 S= v2 620 6.0 80|13 6 4NS-1 *T -50 20 120| 8 10 4v O-1 oK 50 2.0 120
16 4 44 S= vT 620 6.0 80| 2 9 3NN-2 +6 -100 0.0 140 1 4 34 N-2 &A -200 0.0 14.0
13 4 K53 Bésta kontrakt 14 #1093 Bésta kontrakt 15 a5 Bésta kontrakt
Nord v 104 24 N =110 Ost v K832 6NT O =-990 Syd vD1093 3v V =-140
Alla + Kn82 Ingen ¢+ Kn4 NS 8742
*E9742 & ¢ v & NT #10954 & ¢ v & NT 10982 & ¢ v & NT
# 987 & D42 N8 8586 & K42 # EDKn6 N34111 4 KD932 4Knl0 N7 7 455
vEK653 v DKn97 S88586 vE109754 v DKn6 S34111 v8542  vEKKn7 S77 455
¢ K94 ¢ 765 055756 ¢+ D92 ¢+ E6 O 109 121212 + D95 ¢ KKn10 0569 8 8
#86 #KDKn V55756 *E *KD87 vV 109 121111 *3 *Kn764 V56977
« EKn106 # 875 « E8764
v 82 v- v6
¢+ ED103 + K108753 + E63
#1053 #Kn632 #EKDS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 5 4v V-2 ¢2 200 140 00|13 7 4y V+1 ¢J -450 130 10| 5 9 2#S-= +5 90 14.0 0.0
1 14 3v V-1 ¢2 100 11.0 3.0|16 6 4y V+1 ¢4 -450 13.0 1.0| 7 16 1la S= *3 80 120 2.0
9 11 3v0O-1 «A 100 11.0 3.0| 1 14 4y V+2 oT -480 80 60| 3 6 2¢4V-1 &T 50 10.0 4.0
3 10 Pass 80 6.0 2 5 4vyV+2 &T -480 80 6.0[10 12 1sa S-1 LN -100 8.0 6.0
13 7 INN-1 +K -100 6.0 80| 4 8 4v V+2 a3 -480 80 6.0|13 8 2vV= a5 -110 50 9.0
12 15 2v V= *2 -110 40 100| 3 10 6y V= &T -980 20 120(15 1 2vV= a5 -110 50 9.0
4 8 3y V= *A -140 10 130( 9 11 6vO= oT -980 20 120| 2 14 2v V+1 45 -140 1.0 13.0
16 6 2y V+1 a3 -140 1.0 13.0(12 15 6v O= +8 -980 20 120| 4 11 2v V+1 a5 -140 1.0 130
16 4 K9732 Basta kontrakt 17 4 D987542 Basta kontrakt 18 » EKD96 Basta kontrakt
Vast vKD109 4v ND-1-100 Nord vKn 6NT O =-990 Ost v 93 4¢ O =-130
ov + Kn4 Ingen 465 NS 7
»K8 & ¢ v & NT #1087 & ¢ v & NT #K10975 & ¢ v & NT
4 Kn106 »« E85 N33965 «E3 «Kn NO5080 » 82 » 1054 N8 35765
v- v 753 S339765 vKD8762 vE1093 S05080 v K5 v EKn642 S835765
¢+ KD10963 ¢ E75 O 10104 6 7 ¢ KKn92 ¢7 O 127 125 12 ¢ EKD85 ¢ 10642 O 4 108 4 8
#E1043 #9652 V 10104 6 7 *2 #EKDKN543 V 127 125 12 #E843  #Kn V 4 108 4 8
«D4 4 K106 4 Kn73
v EKn8642 v54 vD1087
+82 + ED10843 + Kn93
#DKn7 *96 »D62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 9 3vS+2 «J 200 140 00|13 9 54 N-4 &A -200 140 0.0|15 2 34 N= LN 140 14.0 0.0
4 11 2v S+1 ¢K 140 11.0 30| 4 7 4y V+2 +6 -480 10.0 4.0| 6 10 24 N= LN 110 120 20
15 1 3vy N= 5 140 11.0 3.0| 6 10 5v V+1 ¢5 -480 100 40|11 1 3¢ V= s A -110 10.0 4.0
13 8 4e V-1 vK 100 80 6.0[16 8 4y V+2 ¢5 -480 100 40| 4 7 3¢ V+1 4 A -130 50 9.0
3 6 4vS-1 ¢+K -50 40 100| 5 12 3NV +3 +6 -490 6.0 8.0(13 9 4e V= s A -130 50 9.0
7 16 4v S-1 *A -50 40 100|111 1 6y V= +6 -980 3.0 11.0(14 3 4e V= s A -130 50 9.0
10 12 4v S-1 +K -50 40 100|14 3 6y V= +6 -980 3.0 11016 8 3¢ V+1 4 A -130 50 9.0
2 14 5vS-2 ¢+K -100 0.0 140(15 2 6v O+1 «2 -1010 0.0 140| 5 12 44 N-2 2 -200 0.0 14.0
19 «ED5 Basta kontrakt 20 498 Basta kontrakt 21 D7 Basta kontrakt
Syd vDKn74 2NT S =120 Vast v EK10 4v N =620 Nord v 109653 74 O =-1510
oV + D62 Alla + D63 NS ¢ 72
#E85 & ¢ v & NT #K9543 & ¢ v & NT #KKn92 % ¢ v & NT
« K98762 4 Kn4 N9 7 858 «D10732 «Kn5 N7 6 107 9 + EK6 # Kn1052 N22100
v 1085 v EK6 S 978538 v32 v 985 S 7 6 106 9 vED742 vKKn S22100
+ 1084 ¢ KKn73 046585 ¢+ EKn982 ¢ K10 057 36 4 ¢+ K1098 +E6 O 1111121312
«D #Kn1062 V46585 *8 #DKn10762 V 5 7 3 6 4 3 #ED865 V 1111121312
+103 » EK64 #9843
v 932 v DKn764 v8
¢+ E95 ¢ 754 ¢ DKn543
*K9743 *E +1074
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
3 15 2&V-2 vQ 200 140 00| 3 15 4v S= 8 620 90 50 1 3 6v0-1 &4 50 120 20
9 16 INN+3 ¢+3 180 120 20| 5 8 4vS= 8 620 90 50 6 9 6v0O-1 +Q 50 120 2.0
5 8 INN+2 *J 150 90 50| 6 1 4vS= 8 620 9.0 50| 8 12 4v V-1 *7 50 120 20
14 4 INN+2 +3 150 9.0 50| 7 11 4v S= 8 620 9.0 50| 7 2 3NV+1 &2 -430 8.0 6.0
6 1 INN+1 &J 120 50 9.0[13 10 4v S= 8 620 9.0 50([13 11 3NO+2 +3 -460 6.0 8.0
13 10 INN+1 vA 120 50 9.0[(14 4 4vS= ¢A 620 90 50| 4 15 3NV +3 v3 -490 2.0 120
7 11 INN-2 *2 -100 20 120| 9 16 3NN= &2 600 20 120| 5 14 3NO+3 +3 -490 2.0 120
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12 2 24 V+1 &5 -140 2 49 S-1 &3 16 10 3NV +3 &2
22 & DKn2 Basta kontrakt » £98643 Basta kontrakt 24 & K832 Basta kontrakt
Ost v 432 4v S =420 v EKn6 Vast v 865
ov + E105 + 84 Ingen + ED95
«D1097 & 4V 4 104 & 4V 4 &Kn5 ¢ Ve
4107654 498 N9 6 108 a72 & Knl0 3658 4Kn74 «D106 746
v ED5 v 106 S 9 6 108 v D4 v K10985 36 38 vED93 vK104 746
+ KKn9 ¢+ D6432 O46 35 +D1062 ¢ E7 97 85 ¢ K2 463 6 9 6
&52 #Kn643 V46 35 98752 #EKD6 97 8 14 #K843 #ED1096 6 9 6
& EK3 « KD5 4 E95
v KKn987 v732 v Kn72
+ 87 + KKn953 + Kn10874
&EKS8 &Kn3 &72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 11 4v N+1 &5 450 140 00|13 12 34 N= &A 140 140 00| 8 3 3NV-3 a2 150 14.0 0.0
8 12 3NS+1 LY 430 120 20| 2 4 44V-1 «A 100 11.0 3.0|13 12 5& V-2 a3 100 120 2.0
6 9 4v S= +9 420 100 40|15 5 5&4V-1 «A 100 11.0 30| 2 4 INO-1 *J 50 9.0 5.0
1 3 3NN-= +3 400 80 6.0|11 16 24 N-1 &A -100 80 6.0 7 10 INO-1 *4 50 9.0 5.0
7 2 INS+3 LY 180 60 80| 8 3 3#0+1 &K -130 6.0 80|11 16 3v V= v5 -140 6.0 8.0
16 10 3v S= LY 140 40 100| 6 14 3v O= &K -140 30 11015 5 INO+2 a5 -150 4.0 10.0
4 15 24 S-1 &5 -50 10 130 9 1 3v0O= &K -140 30 110 9 1 3vV+l &J -170 20 120
5 14 3NN-1 49 -50 1.0 13.0| 7 10 2v O+2 +3 -170 0.0 140 6 14 2NV +2 &5 -180 0.0 14.0
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